Anderstorps BK
Olbarometer 2022-10-20

Partavling, 4 bord, 8 par. Antal brickor: 24. Medel: 72.0.

Plac Par Poéng % Namn MID Klubb
1 2 88 61.11 Lars Kennethsson - Per Granath 17074 14609 BK Falkenberg - Anderstorps BK
2 1 82 56.94  Per Emilsson - Johnny Emilsson 53498 18026 Anderstorps BK
3 6 78 54.17 Anders Karlsson - Bengt Collryd 17874 6884  Bredaryds BK
4 5 77 53.47 Jonas Andersson - Magnus Larsson 52637 34612 Anderstorps BK - Gislaveds BK
5 7 69 47.92 Jan Johansson - Bengt-Olof Johansson 49914 18030 Smalandsstenars BK - Anderstorps BK
6 8 67 46.53 Per Johansson - Sune Lébo 19455 9428  Anderstorps BK
7 4 63 43.75 Soren Axelsson - Tore Haldesjo 8192 52636 Bredaryds BK - Anderstorps BK
8 3 52 36.11 Kjell Karlsson - Rolf Aberg 7000 6998  Anderstorps BK
1 «D3 Basta kontrakt 2 4 9865 Basta kontrakt 3 .- Basta kontrakt
Nord vEK4 ANT N =430 Ost vE8 3NT S =600 Syd v EK876 5v S =450
Ingen +K3 NS + K65 ov + K953
#EKn9854 & ¢ v & NT #K762 & ¢ v & NT #EK75 & ¢ v & NT
& K96 4108742 N 108 8 7 10 4102 & EKKn7 N9 9799 4 EKDKn2 463 N9 5 117 8
v10872 vKn96 S 108 8 7 9 vD73 v 109654 S997 99 v2 v Kn109 S 95 117 8
¢ E1082 ¢ D65 03556 3 ¢ Kn843 ¢ D7 043644 ¢E74 ¢DKn10862 O 4 7 2 6 5
*K2 «D6 V35563 #8543 #D9 V43644 #DKn32 #108 V38265
& EKn5 D43 41098754
v D53 v KKn2 v D543
+ Kn974 + E1092 .-
#1073 #EKn10 #964
Par  Kontr Ut Res  Poang Par  Kontr Ut Res  Poang Par  Kontr Ut Res  Poang
6 3 3NN+2 a2 460 6.0 0.0 6 3 INS+2 v3 150 6.0 0.0 7 2 54DO-3 v4 800 6.0 0.0
8 1 3NS+1 v7 430 4.0 20 4 5 3NS-1 v3 -100 2.0 4.0 6 3 3yDN= 46 530 40 20
4 5 3NS= +8 400 2.0 4.0 7 2 3NS-1 v3 -100 2.0 4.0 4 5 2v N+3 vlJ 200 20 4.0
7 2 3#N= aT 110 0.0 6.0 8 1 3NS-1 v3 -100 2.0 4.0 8 1 44 S-2 aA -100 0.0 6.0
4 492 Bésta kontrakt 5 465 Bésta kontrakt 6 » ED85 Bésta kontrakt
Vast v EK1072 54 V D -2 500 Nord vE10875 5¢v N D -1-200 Ost v Kn82 3¢ O =-110
Alla ¢+ D72 NS 410982 ov + K107
»K54 & ¢ v & NT 103 & ¢ v & NT #ED4 & ¢ v & NT
4 ED8764 #KKn105 N 9 10114 7 4 Kn1043 «EK987 N 3 8 103 7 41063 4K9 N54676
v D83 v9 S 9 10114 7 v9 vDKn S 3 8 103 7 vK106 vE93 S 4466 6
¢+ K63 ¢ Kn98 042293 476543 ¢K O 105 2 104 ¢ D54 ¢ EKn832 089767
3 #Kn9876 V42293 %984 #EDKn52 V 952 104 #K1075 #Kn96 V89767
43 4 D2 4 Kn742
v Kn654 v K6432 vD754
+ E1054 ¢ EDKn +96
#ED102 »K76 #832
Par  Kontr ut Res  Poang Par  Kontr Ut Res  Poang Par  Kontr Ut Res  Poang
7 4 4v N= aT 620 6.0 0.0 56 44 0-1 a2 50 6.0 0.0 7 4 2vS-1 +4 -50 6.0 0.0
1 3 44DO-2 ¥5 500 4.0 2.0 1 3 44 0= v2 -420 2.0 4.0 1 3 INV= 48 -90 4.0 20
5 6 24 V+1 49 -140 2.0 4.0 7 4 44 O= v2 -420 2.0 4.0 8 2 INV+1 v2 -120 2.0 4.0
8 2 5vDN-1 4T -200 0.0 6.0 8 2 44 O= ¢ A -420 2.0 4.0 5 6 INDV= v2 -180 0.0 6.0
7 4 D754 Basta kontrakt 8 «E10 Basta kontrakt 9 K53 Basta kontrakt
Syd v KDKn104 4¢ V =-130 Vast vD109 3NTVD-1100 |Nord vED1042 5¢v N =450
Alla +9 Ingen + E8543 ov +532
»K86 & ¢ v & NT #EKn3 & ¢ v & NT »E5 & ¢ v & NT
498 & EKKn6 N6 3666 4Kn653 48 N6 55965 4ED94 4Knl10876 N 9 11117 9
v 865 vE32 S52645 v73 v EKKn62 S 65485 vK97 83 S 9 11117 9
41087532 ¢ KDKn 06 107 7 7 ¢ DKn7 ¢ K1092 0786 47 ¢E86 ¢D4 032262
%93 #ED7 vV 6 107 7 7 K752 #D84 V786438 #843  #Kn1092 V32262
41032 4 KD9742 a2
v 97 v 854 v Kn65
+ E64 +6 + KKn1097
#Kn10542 #1096 «KD76
Par  Kontr Ut Res  Poang Par  Kontr ut Res  Poang Par  Kontr Ut Res  Poang
2 4 3NO-3 v9 300 6.0 0.0 6 7 34 S= v7 140 6.0 0.0 1 5 49 N+2 LN 480 6.0 0.0
6 7 3NO-2 v9 200 4.0 20 15 24S= 43 110 3.0 3.0 2 4 4v N+1 LN 450 3.0 3.0
153NO-1 v9 100 1.0 5.0 8 3 24 S= +Q 110 3.0 3.0 6 7 4v N+1 4] 450 3.0 3.0
8 3 3NO-1 LN 100 1.0 5.0 2 4 34 S-1 +Q -50 0.0 6.0 8 3 3vy N+2 ] 200 0.0 6.0
10 4 K65 Basta kontrakt 11 a7 Basta kontrakt 12 4 D97 Basta kontrakt
Ost v9 5NT O =-660 Syd v 763 54 SD-1-100 Vast v 9842 78\ =-1440
Alla + K762 Ingen ¢ E53 NS ¢+ D2
#D10743 & ¢ v & NT #D97642 & ¢ v & NT #9653 & ¢ v & NT
4 EKN73 41042 N71131 4 D1053 « EK984 N 108 3 3 6 4 E852 4 K1064 NO17 11
vED5 v KKn876 S71131 vKKn1095 v D42 S 108 3 3 6 vE5 v- S01711
¢ ED1095 ¢ Kn83 O 5 11111011 ¢+ D72 + 86 O2 4 8 106 ¢ 1096 ¢ EKKn85 O 13126 1212
+K *E6 V 6 11111011 «10 #E53 V 2 48 106 #EKKNn10 #D842 V 13126 1212
« D98 & Kn62 4 Kn3
v 10432 vE8 v KDKn10763
*4 + KKn1094 ¢ 743
#Kn9852 #KKn8 *7
Par  Kontr Ut Res  Poang Par  Kontr Ut Res  Poéang Par  Kontr Ut Res  Poéang
2 6 4v O+2 28 -680 5.0 1.0 2 6 54 O-1 28 50 6.0 0.0 8 4 2vyDS-1 #A -200 6.0 0.0
8 4 4v V+2 3 -680 5.0 1.0 3 5 24 0+2 a2 -170 4.0 2.0 2 6 44 V+2 a4 -480 4.0 2.0
35 3NO+3 *2 -690 1.0 5.0 8 4 24 O+3 vA -200 2.0 4.0 7 1 44 V+3 v9 -510 2.0 4.0
7 1 3NO+3 *2 -690 1.0 5.0 7 1 4v V= ¢ A -420 0.0 6.0 3 5 6aV= va -980 0.0 6.0
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13 4542 Basta kontrakt 14 & K982 Basta kontrakt 15 41062 Basta kontrakt
Nord v 85432 3¢ O =-110 Ost vD3 4ANT O =-430 Syd v K8 INTV =-1520
Alla + Kn Ingen + D1094 NS *75
#D653 & ¢ v & NT #D62 & ¢ v & NT #DKn10962 & ¢ v & NT
« Kn8 « ED1093 N9 4758 «E6 4 Kn1054 N3 826 3 4DKn95 & EK N41100
vKDKn76 v10 S94758 vKKn52 v E1086 S38263 v 943 v EDKn72 S41000
¢+ D7532 +9864 0396765 463 + K5 O 105 107 10 +Kn93 ¢ EK86 O 9 12121313
&8 &E72 V39675 #109854 #EKKn V 105 107 8 #E83 K4 vV 9 12121313
4 K76 «D73 #8743
vE9 v974 v 1065
+ EK10 + EKn872 + D1042
#KKn1094 *73 *75
Par  Kontr Ut Res  Poang Par  Kontr Ut Res  Poang Par  Kontr Ut Res  Poang
12 3eV-1 &5 100 6.0 0.0 4 6 3vO+1 &7 -170 6.0 0.0 4 6 6v0-1 &7 50 6.0 0.0
8 5 24 O+2 ¢ A -170 4.0 2.0 37 3v0O+2 v3 -200 4.0 2.0 1 2 4v0+1 48 -450 4.0 2.0
37 3vS-2 L) -200 2.0 4.0 12 4v 0= ¢ A -420 1.0 5.0 8 5 3NV +3 *Q -490 2.0 4.0
4 6 3¢4DV= &5 -670 0.0 6.0 8 5 4v 0= v7 -420 1.0 5.0 37 6vy0+1 v3 -1010 0.0 6.0
16 & EKn6 Bésta kontrakt 17 &« EKD Bésta kontrakt 18 & Kn5 Bésta kontrakt
Vast v EKn8 34 N =140 Nord v Kn1098 3y OD-1100 Ost v EDKn62 54 O D-3500
ov 4108743 Ingen + EKn2 NS + Kn7
+D6 & ¢ v & NT #986 & ¢ v & NT #KKn82 & ¢ v & NT
#1053 « D92 N76 897 47432 41065 N6 9578 498 «KD107642 N 118 115 7
v 62 v K543 S76897 vE643 vKD72 S6 9578 v K53 v 874 S 118 115 7
¢ EDKn52 ¢ K6 O56 446 ¢1095 ¢7 07 386 4 + KD542 ¢63 025282
»732 +KKn84 V56144E€6 »E2 #KKn753 V73864 #643 *E V252282
4 K874 & Kn98 4 E3
vD1097 v5 v 109
+9 + KD8643 + E1098
#E1095 D104 #D10975
Par  Kontr Ut Res  Poang Par  Kontr Ut Res  Poang Par  Kontr Ut Res  Poang
4 1 INN+2 a2 150 6.0 0.0 2 3 3NN+1 vK 430 6.0 0.0 2 3 4y N= «K 620 6.0 0.0
2 3 INN+1 a2 120 3.0 3.0 5 7 2NN+2 &3 180 3.0 3.0 4 1 44 O-2 vT 100 40 2.0
8 6 INN+1 «Q 120 3.0 3.0 8 6 2N N+2 v2 180 3.0 3.0 57 4v N-1 4K -100 2.0 4.0
57 INV-1 +3 100 0.0 6.0 4 1 3¢ S= «A 110 0.0 6.0 8 6 34 0= s A -140 0.0 6.0
19 453 Basta kontrakt 20 & Kn7 Basta kontrakt 21 43 Basta kontrakt
Syd v Knl0 5¢ SD-1-100 Vast v KD109 3NT N =600 Nord v EKn7653 34 O =-140
(6)) +D109764 Alla ¢ DKn3 NS + Kn96
»876 & ¢ v & NT #E1073 & ¢ v & NT #763 & ¢ v & NT
8 «EKKN104 N 2 104 7 3 & K85 « E10962 N 108 8 7 9 48765 4DKnl094 N 6 5 8 4 6
vE63 v 9842 S 2 104 7 3 vKn42 vE876 S 108 8 7 9 vKD98 v- S 65846
¢32 +8 O 113 8 6 7 + 87542 ¢ 109 03536 3 ¢ 74 ¢+ D10853 O6 8596
#EKDKNn1043 #952 V 113 8 6 7 +D8 £94 V3536 3 #ED10 #K92 V68596
4 D9762 4 D43 & EK2
vKD75 v53 v 1042
¢ EKKn5 + EK6 + EK2
»- #KKn652 #Kn854
Par  Kontr Ut Res  Poang Par  Kontr Ut Res  Poang Par  Kontr Ut Res  Poang
8 7 3NO-2 ¢A 200 6.0 0.0 8 7 3NS+1 ¢2 630 6.0 0.0 6 1 44 0-1 ¢ A 50 6.0 0.0
5 2 24V +3 45 -150 4.0 2.0 3 4 3NS= 45 600 3.0 3.0 8 7 34 0= ¢ A -140 4.0 2.0
3 4 58V= a5 -600 2.0 4.0 6 1 3NS= a5 600 3.0 3.0 5 2 4¢9DN-1 «4Q -200 2.0 4.0
6 1 54DV = 45 -750 0.0 6.0 5 2 5#N-2 s A -200 0.0 6.0 3 4 5vyDN-3 #Q -800 0.0 6.0
22 & K9632 Bésta kontrakt 23 » EK10 Bésta kontrakt 24 # EKKn65 Bésta kontrakt
Ost v8 4v O =-620 Syd v2 34 S =140 Vast v4 5NT V =-460
oV + K86 Alla + KD742 Ingen + KD7
#10964 & ¢ v & NT #D432 & ¢ v & NT #Kn972 & ¢ v & NT
10 « EDKn54 N6 6 355 4953 «Kn7 N7 9394 4D1093 442 N36151
v EKDKNn9764 v- S56 252 vED4 vKKn98653 S 7 9 3 9 4 v K7 vEDKn10983S 3 6 1 5 1
¢ 74 ¢ Kn932 08 7 107 8 ¢ E95 463 053948 +1065 ¢ E9 O7 6 116 10
«D5 #EKn87 V77 107 8 #EKNn108 #76 V53948 #ED103 #K4 V76 117 11
& 87 » D8642 87
v 10532 v 107 v 652
¢+ ED105 + Kn108 ¢ Kn8432
#K32 #K95 #865
Par  Kontr ut Res  Poang Par  Kontr ut Res  Poang Par  Kontr ut Res  Poang
8 1 44 0-4 ¢A 400 6.0 0.0 6 3 2v0O+1 +J -140 5.0 1.0 6 3 4v O+1 48 -450 4.0 2.0
4 5 4v V= LY -620 3.0 3.0 72 2v0+1 +J -140 5.0 1.0 7 2 4v O+1 48 -450 4.0 2.0
7 2 4v V= a2 -620 3.0 3.0 4 5 4v 0= +J -620 1.0 5.0 8 1 4v0O+1 s A -450 4.0 2.0
6 3 4v V+1 43 -650 0.0 6.0 8 1 4v V= 4 A -620 1.0 5.0 4 5 4vyDO+1 48 -690 0.0 6.0
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